Answer the following questions from 1 to 45 up to a maximum Score of 80.

Questions from 1 to 10 carries 1 score each. (10x1=10)

The family in which men exercise authority and dominance :
(a) Nuclear family : (b) Patriarchal family
(c) Matriarchal family (d) Extended family

- Say True or False.

“There is a close relationship between disability and poverty.’

Identify the sociologist who stated that Sociology helps to find the connection between
‘Personal troubles’ and ‘Social issues’.

(a) Karl Marx (b) Max Weber
(c) M.N. Srinivas (d) C.W.Mills

Complete the flow chart showing structural changes.

Structural Change
J | -

Industrialisation oo

Point out the sociologist who coined the concept ‘dominant caste’.
(a) A.R. Desai (b) D.P. Mukherjee
(c) G.S.Ghurye | (d) M.N. Srinivas

The concept ‘Status symbol’ was coined by
(a) C.W.Mills | (b) Max Weber
(¢) Karl Marx : (d) Emile Durkheim

Find the author of the book *Stree Purush Tulana’.
(a) Tarabai Shinde (b) Begum Rokeya
(¢) LP.Desai (d) M.G. Ranade
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10.

1L

11

12.

13.

Aggressive chauvinism based on religious identity is called

(a) Secularism {b) Communalism

(c) Regionalism (d) Linguism

The sacial reformer who opened the first school for women in pune :
{a) Vidyasagar (b} Viresalingam
(c) Jyotiba Phule (d) RajaRam Mchan Roy

Pick out an acquired trait of triable communities.

(a) Mode of livelihood (b) Language

{c) Region (d) Physical characteristics
Questions from 11 to 18 carries 2 scores each.

Differentiate between communalism and secularism.
Define commodification.
What is dependency ratio ?

Complete the flow chart showing the three forms of capital.

Forms of Capital
1 - v

rsseesemnenneene Cultural Capital

Complete the chart by selecting appropriate name from the bracket.
(Raja Ram Mohan Roy, Ishwar Chandra Vidyasagar)

Newspaper Started by
Shome Prakash

Sambad - Kaumudi | oo
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16.

21.

22,

23.

25,

27.

28.

What is Ic_nowledge economy 7

Write a short note on the imporiance of 73" amendment to Indian Constitution.

Differentiate between Sanskritisation and De-Sanskritisation.

Questions from 19 to 23 carries 3 scores each. Bx3i=15

Differentiate between social map and geographical map.

Define demographic dividend. In what way it is helpful to a nation ?

{a) Who coined the term ‘Foot loose labour® ? ()]
(b) Who are footloose labourers ? (2)
Briefly explain Mancur Olson's theory of social movements.

Point out the three key principles that help to explain social stratification.

Questions from 24 to 30 carries 4 scores each. (7 x4=28)

Write a short rmte. on the sociological perspectives on markets and economy. T
Examine how prior knowledge about society influence the study of sociology.
List out any four characteristics of Caste.

Briefly explain Malthusian theory of population growth.

Briefly explain the impact of globalisation on Indian radio.
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29. Write a short note on the different kinds of westernisation in India,

30. .(a) Differentiate between industrialisation and de-industrialisation. (2)
(b) Name two old urban centres that declined as a result of urbanisation in India. 2)
V. Questions from 31 to 37 carries 5 scores each., (7 x 5 =38)

31.  Complete the chart with appropriate items given in brackets.
(Adam Smith, Alfred Gel, Nattukottai Chettiar, Banjaras, Commodification)

I

(a) | Bottled water

| (b) | Salt trade

(¢) | Dhorai market

(d) | Invisible hand

{(e) | Traditional merchant community

L
32. (a) Define civil society. 2)
(b} Explain the importance of civil society in modern Indian Society. ’ 3)

33.  Write a note on the population policy of India.
34.  Analyse the mainstream attitudes towards tribes in India.
35.  Explain the social consequences of Green Revolution.

36. Examine the role of pressure groups in democratic politics.
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37

V1.

38,

39.

41.

VIL

42,

43.

44,

45,

Match the following :

(A) (B) .
Kaka Kalelkar | Vedic Authorities for Widow Marriage |

Joseph Butler Satyashodak Samaj

M.G. Ranade First backward Class Commission

Jyotiba Phule Sultana’s Dream

Begum Rokeya | Analogy of Religion

Questions from 38 to 41 carries 6 scores each. (4% 6=24)

Examine the canses of declining sex-ratio in India.

Analyse caste as a discriminatory system.

Describe the impact of colonialism on Indian markets.

List out the features of Social Movements.

Questions from 42 to 45 carries 8 scores each. (4= 8=32)

Analyse the modern trends in caste systems.

Analyse communalism as a threat to secularism in India.

Deseribe the changes in Indian industries as a result of globalisation and liberalisation.

Explain the impact of globalisation on culture,
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